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ENGLISH

I. Read the following sentences and answer the questions that follow. Choose the
right answer and mark it.

1. ‘Hesaid it expanded his lungs'. The antonym of ‘expand’ is
(1) Unfold (2) Contract (3) Spread (4) Loosen

2. ‘Did you get up early this morning’ ? What part of speech is the word ‘early’ ?
(1) Adijective (2) Preposition (3) Adverb (4) Verb

3. ‘| kept them quiet for ten minutes’. The antonym of ‘quiet’ is
(1) Noisy (2) Calm (3) Complete (4) Cry

Il. Study the bar graph given below and answer the questions. Choose the right
answer and mark it.

RUNS SCORED BY DECCAN CHARGERS IN THE LAST OVER OF AT20 MATCH
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4. Maximum runs were scored in the
(1) Second ball (2) First ball
(3) Sixth ball (4) Fourth ball
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5.

How many runs were scored in the fifth ball ?

(1) 6 (2) 4 (3) 0 (4) 2
6. What are the two balls in which the batsmen scored the same runs ?

(1) Firstand Second balls (2) First and Sixth balls

(3) " Third and Fifth balls (4) Second and Third balls

II1. Identify the proper order of the following sentences and mark them. (The firstand
the last sentences are in the proper order.)

g.

1. Hi, Cherry, how are you ?
Well, | play a lot of sport.

| like shuttle badminton.

>~ 0o Dp

Hi, Abdul. I'm fine. You look very fit and healthy. What do you do to keep
yourself like this ?

o

What sport do you like the best ?

6. Yes!do.|go running in the morning at least five days a week. Are you interested
in sport too ?

7. Do you ever go running ?

8. Yes. | like swimming. | swim everyday without fail.

(1) 1,4,2,5,3,7,6,8 (2)1,3,4,6,2,5,7,8
(3) 1,4,5,3,7,2,6,8 (4)1,5,2,3,6,4,7,8
8. Who is the author of “Mother’s Day : One-Act play” ?
(1) W.R.Inge (2) J.B. Priestley
(3) Shiv K. Kumar (4) Stephen Leacock
9. George Orwell’s ‘Animal Farm’ is marked by a profound awareness of
(1) Equality (2) Liberty
(3) Social Injustice (4) Fraternity
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10. The novel ‘Animal Farm’ shows how power corrupts too.
(1) Men (2) Animals (3) Birds (4) Insects
11. “Then you can sail away be happy”. In which poem does this line appear ?
(1) Equipment (2) The Giving Tree
(3) Harvest Hymn (4) Bullin the City
12. Choose the word that has the same meaning as the expression given below.
“That which can not be conquered”.
(1) Invisible (2) Infallible (3) Inevitable (4) Invincible
13. “Lots of assembly-line jobs will Vanish”. The synonym of ‘Vanish'’ is
(1) Disappear (2) Appear (3) Found (4) Seen
14. Identify the part of speech of the underlined word.
“The search became a mania with me”
(1) Adjective (2) Noun (3) Verb (4) Conijunction
15. Identify the number of syllables in the word “around” (around)
(1) Mono (2) Di (3) Tri (4) Poly
16. Which letter is stressed in ‘Volunteer' ?
(1 v (2 L @) E 4 T
17. Identify the silent letter in ‘subtle’.
(1) s (2) b (3) t (4) |
18. Find the word that is different from the other words in the group with regard to the
sound of the underlined letters.
(1) Change (2) Character (3) Cheap (4) Chance
19. Identify the right word for /KJut/
(1) Coat (2) Kute (3) Cute (4) Cote
20. Supply the missing letters to complete the spelling of the word “Anc _ _tral”.
(1) i, s (2) e,s (3) us (4) s, e
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V. Fill in the blanks with suitable answer.

21. After working so hard he didn’t deserve to fail in the exam,

(1) doesn'the? (2) Didhe? (3) Don'the? (4) Ishe?
22. Yesterday at this time all of us _ _____(watch) the cricket match.

-(1) watched (2) arewatching  (3) hadwatched (4) were watching
23. The objectis to prevent him failing.

(1) for (2) from (3) in (4) at
24. The rose is prettier than flower.

(1) Noother (2) Any other (3) More other (4) Most other
25. You must cure me this horrible illness.

(1) of (2) at (3) in (4) for
26. Each of the boys given a chocolate.

(1) were (2) was (3) has (4) have
27. There was aman was very greedy.

(1) which (2) when (3) who (4) why
28. injured were immediately taken to the hospital.

(1) A (2) An (3) The (4) No article
29. Mark the part of the sentence that has an error.

1 2 3

(1) 1 (2 3 (38) Noerror 4) 2
30. The teacher will come when the bell

(1) Rings (2) Rang (3) Ring (4) Hadrung
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31.

ECONOMICS

From the below, what are the features of ‘Economic Commodity’ ?

(1) Nature given, no price (2) No production cost — no price
(3) | 'Scarcity, price (4) Allthe above

e 30D TIE" €08 By oFETen
(1) 85O EIBBo, 56 Gt (2) &ty S50 &0t (58 Gotd
3) 68,56 (4) 2%

32.

Which is the ‘wealth’ from the below ?

(1) Money (2) Shares

(3) Land and Buildings (4) Allthe above
53300 TeIE° $905¢ 2

(1) e (2) Zeres

(3) 20, Bseo (4) 3

When the total utility increases with decreasing rate, then Marginal Utility ?

(1) Increases (2) Decreases

(3) Constant (4) Increases with decreasing rate
0080 (HATE50 BB Bend WEOBOIPE GI0B BATENO

(1) 2SHB00 (2) siHEocd

(3) or &sotwod (4) B0 0end WEHBCD

If, the ‘X’ and ‘Y’ are substitute goods, if the price of the ‘X’ decreases, then the
demand for Y’

(1) Decreases | (2) Increases
(3) Constant (4) None of the above
X’ 508050 ‘Y’ 00 EEREma $:55:9e0 ot X' $8 SRS Y &sro&
(1) ssocd . (2)  2rB0d
(3) 3o (4) @osw
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37.

The demand curve with perfect elasticity will be
(1) Leftto right downward sloping (2) Leftto right upward sloping

(3) Parallel to ‘X’ axis (4) Parallel to ‘Y’ axis
SoYrg TE 550 Mo Aol By

(1) e85 B00d HAL 2002 T dot08 (2) des5> 3008 AL 2D 00
(3) X’ e508 ss57ronso (4) Y’ o528 Saronso

If the demand curve is with ‘Rectangular Hyperbola’ shape, then the elasticity of
demand is an equal to

(1) 1 (2 >1 (3) 0 (4) <1
&Sm0l B ‘oow edSTmear0’ es57ted’ GRRINED ol TS0

(1) ese3dssrso (2) 253 5063 2535

(3) w5 (4) exedsosd sy s

The ‘Budget Line’ is also known as

(1) PriceLine (2) Profit Line

(3) LifeLine (4) Property Line
‘2G5 09’ £ 508"

(1) ¢sd9 (2) oeode (3) 2258 (4) e}dp

The consumer will be in equilibrium position, when the
(1) Budget line condemns the indifference curve

(2) Budgetline is tangent to the indifference curve

(3) Budgetline is above to indifference curve

(4) Budget line is below to indifference curve

84 808 S05506° DIFHTE BSoFos’ soerts

(1) mgdaaéa-‘mmsammdoamm

(2) 2GeS5de eohss s ben 0T dSyses

(3) 2GeSdp arrbss 5880 05 EdpIe

(4) 2Ge539 sobhass 5B B165S )
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39. The relation between the inputs and output is known as
(1) Production Function (2) Price Function
(3) Trade Function (4) Utility Function
E5y98 &t)d U0 SoiTo HROFOR Di00eIEd ?
(1) asgsoo (2) a3
(3) welmgsoo - (4) @ares oo

40. In perfect competition the Marginal Revenue (MR) is
(1) Equalto Average Revenue (AR) (2) More than AR

(3) LessthanAR (4) Less than price
woigry Feb adros ol

(1) e Tads 3o (2) e Trexds Hot3 Ky
(3) e readh ¥od) B8 (4) &6 %0ed XS

41. ‘Selling costs’ is the specific feature of the following market

(1) Perfect competition (2) Monopoly

(3) Monopolistic competition (4) Oligopoly

s 5T’ $od 5305 ¥ 0Fe0

(1) sogrg e (2) s

(3) Dxdrgsoged (4) SOBFF0
42. ‘Duopoly’ means

(1) Only two firms (2) Limited firms

(3) Large number of firms (4) No firm

BRSO’ T

(1) 360 edySortoen (2) 58208 e0Somted

(3) 2% SowpsS wdoSorrton (4) Sogeo &0t
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43. According to the Marginal Productivity Theory of Distribution, the price of any
factor of production depends upon its

(1) Marginal Productivity (2) Average Productivity

(3) TotalProduction (4) Average Revenue

OB SBEE SoDES HEPOBO S0 2.8 &8y S°CE0 Y, G-+ 00 TR BTV
(1) édoseonsss ' (2) e emmesss

(3) 335@30 &S - (4) “evoed

44. ‘The Classical Theory of Rent’ was put forward by

(1) Henry Carey (2) David Ricardo
(3) Briggs (4) Jordan
SO 7o DrroBo’ o BOLSS
(1) wesd (2) a2&esg
(3) @fy @) &5
45. National Income when divided by total population of nation is known as
(1) Per capita Income (2) Personal Income
(3) Disposable Income (4) None of the above

2SATTOL0R0 BF &TrS eFROWT S0

(1) ®ek0 esoraio (2) SgesoroXo
(3) 5000 esoio (4) 2 5%
46. InIndia, National Income is estimated by

(1) Central Statistical Organisation (2) Reserve Bank of India
(3) Finance Commission (4) Planning Commission
GPEB0E0S" 2rHOHTRONOK oTT DXV
(1) SogHerosisoy (2) arodan dextig erpo®
(3) =Qsomo (4) Sem8 Soswo
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47. “Supply creates its own demand” was proposed by whom ?

(1) Karl Marx (2) J.M.Keynes
(3) J.B.Say (4) J.R. Hicks
53000 BT B5IroER HROBE0ENOE 6 BITBOLD 6 ?
(1) sBarby (2) & 545
(3) 2.8.% , ‘ (4) 8.e6.275

48. ‘Effective Demand’ means
(1) Aggregate Demand = Aggregate Supply
(2) Aggregate Demand > Aggregate Supply
(3) Aggregate Demand < Aggregate Supply
(4) None of the above

Eope &srol’ e
(1) S2opdsros = SPBZow (2) s ABTOE > BAoYHO0
(3) BWREBTE < SoPZ0N (4) P>
49. ‘The double coincidence of wants'’ is the necessary condition to run the following
system.
(1) Barter system (2) Metallic money system
(3) Paper money system (4) Plastic money system
1§73, 0 S FB0R5000" ekoid §ob I 58 BHVNO B
(1) Sarod 5559 (2) S o35Sy
(3) e e5350 2553 (4) 8 oup35Sy

50. Which of the following is the controller of credit in India ?
(1) State Bank of India (SBI)
(2) Reserve Bank of India (RBI)
(3) Bank of Credit (B.C.)

(4) NABARD
S80S’ 5558 Javoes’ BOHd
(1) SBI (2) RBI (3) B.C. (4) NABARD
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51. Economic development includes
(1) Increase in production (2) Eradication of absolute poverty
(3) Reduction in unemploymentlevel  (4) Allthe above
es05°9:)06° 300 eoo/eoTen dotTon

(1) &Byd8" weorse (2) A5y es0508° Bixso
(3) DeSgo Frond srmese (4) 3
52. From the below, which‘is not the characteristic feature of developing countries ?
(1) Scarcity of capital (2) Predominance of agriculture
(3) Highincidence of poverty (4) High per capita income
&2 300 738" D50 Dotosody 370 0§80 570 ?
(1) 8% Soressiso (2) 35500 @origs
(3) %5 xs0%0 (4) 6% 8030 esoraXre

53. India’s ‘Economic Reforms’ includes
(1) Liberalised industrial licencing policy
(2) Removal of restrictions on Foreign Investment
(3) Providing more space to private sector
(4) Allthe above
FAne’1] e.sgg R0, Sewen DA &5 wo¥o /woTen
(1) 8n85 oo 59550 (2) D3 wexestie P eofe Soho)
(3) ©oasDex Sormd 2 B (4) 25

54. From the below, which is not the feature of globalization ?
(1) Imposing restrictions on the movement of labour between the countries
(2) Permitting free flow of technology between the countries
(3) Permitting free flow of goods among the Nations
(4) Permitting free flow of services among Nation States
52 300 T38° (55005650 0§e0 S0
(1) S50 B¢ oo 8690 D eofen DPoisex
(2) B7ro 30655 088 $0er0 BEDOYRL eSB0We0
(3) 7o SodyBRupe BEDOY BoSBoBe0

(4) Trro 5085 e BEBOHL wSSoBE0
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55. The United Nations Development Programme (UNDP) has prepared its first Human
Development Report under the stewardship of

(1) Prof. AK.Sen (2) Prof. Mohbub-ul-Haq

(3) Prof. Mansoor Ahmed (4) Prof. M.S. Ahluwalia

350 TS DETRFINS RBY ST 555 Do) ST DG AP OS BAIr>T0 7
(1) ST 3. DS | (2) esavdsma-wé-aé-::é

(3) euﬁsmm;Se:»AB (4) esTE;d. %, esyTdal

56. Asper2011Census, the female literacy rate in India
2011 magbe@s-sowwaéoé‘goegmsémv
(1) 74.04 (2) 82.14 (3) 6546 (4) 1668

57. The share of the primary sector in India's National Income

(1) Hasbeen declining (2) Hasbeen increasing

(3) Hasbeen constant (4) Increasing with increasing rate
oo erarTraod’ @RS SoKoTer

(1) oo SO0 (2) soor OBIRD

(3) Dosar a0 (4) 2oy Be08" OB

58. Mahatma Gandhi National Rural Employment Guarantee Scheme was launched in

the year
Woémwmamﬁmwgoww
(1) 1976 (2) 1999 (3) 2006 (4) 2012

59. The largest employment providing sector in India is

(1) Agriculture (2) Industry

(3) Services (4) Handloom industry
groEtEos D &R Bysyn Bore

(1) B0 (2) so@se

(3) wodeo (4) D6 S0E
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60. Among the following Crops, which is the highest yielding crop in India ?

(1) Rice (2) Wheat (3) Pulses (4) Maize
POBI0S" 2% 35 STCEBD 3y Soes
(1) so (2) Ao (3) S (4) 08,75

61. From the below, which is not the cause for the low Productivity in agriculture
in India ,

(1) Poor techniques of Production

(2) Dependence on rainfall ang monsoons

(3) Low irrigation facilities

(4) The large size of land holdings

82 200 T3 o8 0st DS csyesss BEIT docierdE st 9

(1) W%é@ﬁﬁg&m 2 ST SeSamo
(3) 855 Hesdvpese Foven (4) ¢ s
62. Abolition of Intermediaries Tenancy Reforms ang Ceiling on lang holdings are part
(1) Green Revolution (2) Land Reforms
(3) Economic Reforms (4) Globalization

D00 Fohog) T, RO, B, 2P 5628 B0 Anerrsd €08 2 wo¥0d® 5o ?
(1) o IS0 (2) go0 S0, e (3) €08 B0, Semens (4) SS0dsse

63. NABARD was set up in the year
NABARD (o) TDODS

(1) 1972 (2) 1982 (3) 1990 (4) 1935
64. Industrial Policy Resolution which is known as New Industria) Policy was Spelt out
in the
OB O L A e DeLDRES) JOF 8 Agrs B07505%0 D> Bty 0
(1) 1948 (2) 1956 (3) 1977 (4) 1991
65. From the below which IS not correctly matcheg
o8 T Sy BBIGSdss

(1) 1948-1FcI (o) 1951-1cIC1  (3) 1964-1DBI  (4) 1990 - SIDB)
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66.

68.

69.

Service sector includes

(1) Trade (2) Hotels (3) Banking (4) Allthe above
Eob 738" Hive Sofo SBHSE™E 5B/ YD

(1) v - - (2) Feey (3) ergosoen (4) P9

In which five year plan the term ‘Inclusive Growth’ was used first time ?

(1) Firt .~ (2) Fifth- (3) Tenth (4) Eleventh
B0o¢5e3T0 O S0 @':m')gé‘ 52 @e5)e B0 eairiobndod ?

(1) o0csed (2) esanesd (3) e (4) S80S

In Andhra Pradesh State, Balanced Regional Development became one of important
objectives from the

(1) First five year plan onwards (2) Second five year plan onwards

(3) Third five year plan onwards (4) Fourth five year plan onwards
0SB o8 D 0I9g EETS Bood ¥08DS PoSATPIR BT oF5es’ a8 577000 ?
(1) 00csed (2) voess () Sowess (4) =g

From the below, which are the sources of Air Pollution ?
(1) Vehicular emissions, nuclear tests

(2) Deforestation, mining

(3) Burning of fire woods, industrialization

(4) Allthe above

54208 TeI6° Trao SPenalss 5°0E0 G35

(1) Trres 508 Sgres, e H0goo (2) oS08, o IDIBG
(3) Do o0, POFWELE (4) 25
70. “Meeting the needs of the present without compromising the ability of the future

generation to meet their own needs” is known as
(1) Sustainable Development (2) Balanced Development
(3) Human Development (4) Inclusive Development
B B0 TR GG’ GO BNy B0 SRRTOR Sy B O™ DO ?
(1) SSPROSER eSS (2) SoBods DY
(3) sddHB | (4) SW08 £DHS
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71.

72.

74.

75.

COMMERCE -1

The main objective of business is

(1) Toearnprofit (2) Toincrease sales revenue
(3) Torender services (4) None of the above

T oY, SRy EREO

(1) owgs p o (2) exsosmeo pododoisto

(3) PevdodEo ' (4) 2N

The following Industry is called Extractive Industry

(1) Poultry (2) Mining (3) Fertilizers (4) Insurance
B3 800 738’ .8 SOFS GETE? SOFR0 €9 DD

(1) Sgosso (2) 2R (3) g2t (4) e
The liability of the shareholder is

(1) Limited (2) Limited by guarantee

(3) Unlimited (4) None of the above

TRTTEOR) A0%), 20ERT S

(1) 56vsB0 (2) =520 2o5% 30080 (3) @s0so (4) 23z

The motto of “All for one and one for all” , which organisation follows

(1) Sole Trading Concern (2) Partnership Firm

(3) Joint Hindu Family Business (4) Co-operative Society

2,850 5790 €0t 0t50 5550 2.850" €950 DT D H0P @ROI0HD ?

(1) FodTErosw (2) errSagsos o

(3) &x0d 2ot He00e TEEHN (4) STsooge

There should be a maximum of members in a Private Limited
Company as per Indian Companies Act.

(1) 50 (2) 20 (3) 100 (4) No Limit

&5 020 5630 55760 (15365 DWAE K0006" 1835805 Sowg

(1) 50 (2) 20 (3) 100 (4) es02BH0
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A partner who does not share the profits and losses of the firm and is not liable for
the debits of the firm is known as

(1) Minor partner (2) Partner in profits only

(3) Quasipartner (4) Partner by holding out

1505 G008, TS’ a0 Si%o§S00r" Sodaky S0 BRyos e SPOBLHOG GOC BRI
[TXT 0" 5 o BRI

(1) wsbarnsd © (2) owosunnd (3) Towrnd  (4) IR

Business does NOT include

(1) Agriculture (2) Commerce (3) Industry (4) Services
TECE0E" B 80D 36" D wodsas SOR GOt ?

(1) godma0o (2) >edepo (3) Do@ (4) oo
Total and undivided risk is the main feature of

(1) Partnership (2) Sole Proprietorship

(3) Joint Stock Company (4) Co-operative Society

Bao ST AT Horh Baoky, Boopg 00 B God Te36° D TEPE0 0600l ?
(1) arrrgSos 60 (2) dodTErsRoy

(3) 2roxoeS TS Sowdes (4) SsE09

In which year the Co-operative Movement was started in England ?

(1) 1944 (2) 1935

(3) 1844 (4) None of the above
Forrobs’ d 0SS’ BTG (SR @ SoDOTEd ?

(1) 1944 (2) 1935 (3) 1844 (4) DD

In which year Indian Companies Act was formulated ?
&5 Koo $5630 D VOSBBNE’ Srrofotndit ?

(1) 1932 (2) 1946 (3) 1956 (4) 1936
81. Investment in which of the following is most risky ?
(1) Equity shares (2) Preference shares
(3) Debentures (4) Fixed deposits
B 206 el A0’ SHaro BIS" KD &otod 7
(1) sddmeres  (2) eospTwe  (3) &HoSE (4) 3355 e
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82. Which document contains the fundamental rules regarding the Constitution and

activities of a company ?

(1) Articles of Association (2) Certificate of Incorporation

(3) Memorandum of Association (4) None of the above

0 @Y, TEPORSVEED eooe.)o&ow G BPEPe0 So8aX S0 I HeTTres B Sigo
a@obéfggo& ?

(1) dowsrse  (2) as:wvc_w o (3) Soxsvsgo  (4) DD

83. The following is not a merit of co-operative society

(1) Easy formation (2) Service to its members
(8) Unlimited liability (4) Stability

&+ 800 TS BT 503 By, (Alreo 00

(1) IS8 Te oo (2) %00 e 3o

(3) 5028 2woes ereisd (4) 080

84. The holders of these are the creditors of the company

(1) Equity shareholders (2) Preference Shareholders
(3) Debentureholders (4) None of the above
Fond® D BoeITBes

(1) sedederotoe (2) o5 TeroTton

(3) Adossoortoen (4) =

85. In which states the School of Hindu Law is prevailed Mitakshari conditions ?
(1) Assam and West Bengal
(2) Andhra Pradesh and Arunachal Pradesh
(3) Haryana and Punjab
(4) Except Assam and West Bengal in all other states
5015 B0d" D Tgod” Lrot eder He0e50 ol B Jeoees eSeé’ dTmon ?
(1) &3m0 308050 58y Bored
(2) es0igs (SOF 00T e (B
(3) oo So0ad SoeeeS
(4) edno 5080k S8y Borrd orfod’ B3 Wi e oes”
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87.

The document governing the internal rules and regulations of a company is called

(1) Memorandum of Association (2) Articles of Association

(3) Prospectus (4) Certificate of Incorporation
Ko2% 55558° ST AHTD DT LD SISER DO IR oL,
(1) Do S0 (2) DowsrHe (3) 0B JBo (4) Sd>rco JBo

The goods which are manufactured in other countries and purchased for
consumption in India it is known as

(1) Export Trade (2) Wholesale Trade

(3) Entrepot Trade (4) Import Trade

NET S HAXTDS HHOS rSEBFS” DIBTROHEIE TR ed Bhiser00B e BN
H0LTLD.

(1) dosddgse  (2) S'H3g (3) ot %0 (4) BrHd Sg%o

NTPC is working under

(1) Co-operative sector (2) Public sector

(38) Private sector (4) Joint sector

00563, 2.2, B2 208 Soko o S Wiod

(1) sosssomsn  (2) ¢ § Soiso (3) -@336 Soltdoo (4) a0l Sonsn

A good example of a construction Industry is

(1) L& T Company (2) ECIL

(38) Murphy Company (4) HMT

0 SOFSE R Ko B0D GTEGE

(1) L&T 5o (2) ECIL (3) 08y Sown (4) HMT
Preference shares are those which carry preference in

(1) Return of capital and dividend (2) Return of capital

(3) Dividend (4) Voting rights and dividend
SOEH TerOH Bt Qo8 T3 BIS esp5D Goenod ?

(1) Soregso p orexd Sodoko Adaok (2) Soregso P T

(3) &daok (4) &endoneos ™, 9ok &S
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91. The closing stock is not shown in Trial Balance. The reason is
(1) Because it is not sold (2) Nojournal entry is passed
(3) No payment is made (4) Included in purchases
S0N0H) B Dexiss ST Joss Siod
(1) 8 SRREB 500 (2) Degseyoandess she0ed
(3) 280 eserdes> 5‘2323 A (4) SRS DB esod ’5°a>e.3
92. Wages paid towards mstallatlon of machinery is shown in
(1) Balance Sheet (2) Trading Account
(8) Profitand Loss Account (4) None of these
QDOE"® HALBHL0 DO Sswroms
(1) e esyo 536 sryes (2) 365 e srpoem
(3) oo Mw@m (4) 233
93. Accountingisa language of
(1) Stakeholders (2) Business
(3) Shareholders (4) Investors and creditors
AEE T H0 (€570e3ohR) e5:50:58
(1) 3895 soars, (2) =6 30em4
(3) Terortve 58gr% (4) 2epedong So8an eweose S0,
94. Credit Balance of Bank column in Cash Book shows
(1) Overdraft (2) Cash deposited in the Bank
(3) Cash withdrawn from the Bank (4) Opening Balance
?1‘;& (= Lt G (2) 250806 A2e5 DS 5K
(3) =P So0d S SKs | (4) @"doa’f.@) dex
95. In Double Entry System income is measured on the basis of
(1) Consistency concept (2) Costconcept
(3) Matching concept (4) Business entity concept
2106 3565 7506 escray OO0 VIO 5755
(1) S85758 o755 (2) Sg00em8
(3) =050 /2285563 arsss (4) TR s 5
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Goodwill Account is classified as

(1) Real Account (2) Nominal Account

(3) Personal Account (4) Suspense Account

IOEDS greiso D T QIO ?

(1) =3z oo (2) wowr@d ¥ (3) oo (4) et e

If Assets = Rs._.,20,00.060 - Liabilities = Rs. 18,00,000 ; then what is the capital ?
§§§°§5’°"° o, esipeo = 6. 20,00,000 ; 5003 . 18,00,000 ; exaxide0nd, Sxrodso
(1) 38,00,000 (2) 4,00,000 (3) 1,00,000 (4) 2,00,000

A sale of Rs. 50,000 to Ravi was entered as a sale to Raju. This type of error can
be classified as

(1) Error of omission (2) Compensating error
(3) Error of commission (4) Error of principle
592 5. 50,000 & eisogen s, Ter eSS sOnSeT SATES000D €3 BP0 O CERS
Bpre DAY ?

(1) e598% (2) o083 (3) Iws8%e (4) %cros &

A statement in which all the Ledger Accounts balances are shown. Itis known as

(1) Balance Sheet (2) Trial Balance

(3) Ledger Book (4) Profit & Loss Account
e@mwwbaiambmbww?

(1) ehuiyosgs (2) wosew

(3) sy HREI (4) eassayeo e

Goods distributed as free samples is debited to

(1) Advertisement Account (2) Charity Account

(3) Purchases Account (4) Goods Account

&0 TR 5700 S0 B0 D e O DA ?

(1) ©sese o (2) oo T (3) S%of‘eo o (4) Oy
The first stock exchange was set up in India

(1) Calcutta (2) Delhi (3) Chennai (4) Mumbai
LrOEBHOS BaoegRancsed 8 Hyold) 2,6 FoTEd 2

(1) sose (2) @& (3) =& (4) S208
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103.

104.

105.

106.

Which of the following is not an Input Device ?

(1) Touch screen (2) Optical scanners

(3) Touch_pac_l | (4) Plotter

5¢ 20D TS DO 5035500 35:9)e5 3080 61 9

(1) &S558 (2) es8dm 50 (3) &5>& (4) b
Special Economic Zones (SEZs) have been created in the

(1) EXIM Policy 2002 (2) EXIM Policy 2000

(3) EXIM Policy 1991 (4) None of the above

236 2728 755350 (SEZ) 2008,

(1) 2002285 Jebs® (2) 20005 Jrebs®

(3) 1991285 Jobe* (4) WD

Which of the following is not included in the category of intangible assets ?
(1) Patentrights (2) Copy rights (3) Machinery (4) Goodwill
& (00 35" DB 50659 e300 20658 T 9

(1) 2BcS>nes  (2) 55 Beven (3) avogres (4) &S
Inventory is valued at

(1) Cost price (2) Market price

(3) (1) or (2) whichever is higher (4) (1) or (2) whichever is lower
S0P SED Do seycso

(1) §% 3500 (2) 3596505

(3) (1) 87 (2) 6° 08 5 38 w8 (4) (1)6@(2)6‘.’3&6&@_&@&

The company whose managerial headquarters are located in one country, while it
conducts its operations in a number of other countries is called as

(1) MultiNational Company (2) Private Company

(3) Government Company (4) Public Company

TEPO AT STEao a8 Bk’ dod 25 drredt THS SEEeDOR AiroD RoPH
(1) ouverdan soud (2) (3exn 2o2d

(3) a0 gond (4) 58S s0ud
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107.

108.

109.

110.

Single entry system has the following effect

(1) ‘One sided effect (2) Two sided effect
(3) Three 'sided effect (4) None of the above
2o0e3 569 s B -flf.o& erdo &0exod

(1) espoeRse (2) Dot Pide BETSO
(3) SO ers0 (4) PO =D

Opening stock = 1,00,000 ; purchases = 200,000 ; closing stock = 1,00,000;
sales = 3,00,000. Gross profit/loss = ?

(1) Profit= 2,00,000 (2) Gross Profit= 1,00,000
(3) Gross Loss = 1,00,000 (4) None of these

rS0eiD) B Jos = 1,00,000; o) = 2,00,000 ; 5x0h0) %550 o = 1 100,000
505 0 = 3,00,000. &30 orefo/ S0 = Jo ?

(1) easo=2,00,000 (2) syoowsn=1,00000
(3) &zo 5:9;»::1,00,000 (4) PR

Which of the following is @ liability ?
(1) Cashatbank (2) Bills Receivable

(3) Bills payable (4) Goodwill
53 20D IS’ DB B0 D080 7
(1) wsoge?;sﬁcso (2) Sareo Heged (3) 8o Degww (4) 66

Debit what comes in and credit what goes out is the principle of

account.

(1) Personal Accdunt (2) Nominal Account

(38) Trading Account (4) Real Account
m@bﬁﬁ@mmawwwmmgmo&MWm BASBoLrD & PR

(1) sgregre (2) Todr@R ¥FT
(3) sgd T (4) TR T
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111. Which of the following is an intangible asset ?

(1) Fumiture (2) Goodwill (3) Building (4) Cashinhand

&2 (EoB TVE Lo eshy DG 2

(1) PO (2) &S (3) gmsssa (4) 306 5w
112. Preliminary Expenses in Balance sheet is shown which side ?

(1) Assets (2) Liability

(3) Under capital (4) As a part of reserve fund

@3 @Yo 56356°D Sy PENOR VY BIHT 9

(1) espen (2) espes (3) soressogos (4) Bextiog NOS" erivor
113. How many parties are there in Bills of Exchange ?

SGED D" 08 3008 e (BgSEI0) doerts 2

(1) 5 (2) 4 (3) 3 4) 2
114. Loss onsale of a Machinery is

(1) Capital Expenditure (2) Revenue Expenditure

(3) Deferred Revenue Expenditure (4) None of the above

oo eS80  SEo &sd

(1) Sorogs:s o0 (2) B30y a0

(3) &6 TRy w5a50 (4) 25°06° 98 seso
115. Capital Expenditure gives benefit for

(1) Short-term (2) Long-term (3) Permanent (4) 5years

DTS PAY S9 SATES0 Jot S0 9

(1) Soys0e0 (2) 8¢ oo (3) =m0 (4) 5 Sossyoren
116. Who is the Drawer of Bills of Exchange ?

(1) Seller (2) Buyer

(3) Middiemen (4) Government Officer

SEED D’ “Dexy 85" 2565 2 '

(1) esggomrencs (2) SoRfenrthes (3) 5045559 (4) Sevedso
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117. Trial Balance is prepared for the purpose of

(1) Toknow profit (2) Toknow the loss
(3) Toknowthe arithmetical accuracy (4) None of the above
e0seTo A28%50 B DY 2

(1) orar) BoodoSHoesd (2) 3R Be0BEHD
(3) Hewosro OB DD (4) Do s

118. Anassetwas bifrchased for 50,000/- and depreciated @ 10% under written
down- value method. The balance after two year.

2.8 eshyd 50,000/~ S0 Ersoffes B, o0 B B80S0 10% S BRBOD) Jog )
S50 B, Do HoSET" HEE & e5%) DS o 600D ?

(1) 40,000 (2) 40,500 (3) 41,000 (4) 42,000
119. The name and fame, good reputation of a Business Firm is known as
(1) Asset (2) Loyalty (3) Credibility (4) Goodwill
2E TG DOP> 300D D> BSHBR D000 ?
(1) e (2) Jdaxnd (3) =0 (4) 086
120. Which of the following is non-cash transaction recorded in P and L Account ?
(1) Depreciation (2) Advertisement
(3) Commission (4) None of the above
53 B0B TS DB B> B2 SSEE UsTe s DR ePBB 2
(1) ssrdese (2) spPopsees  (3) Do (4) »>08 b =
121. Liability of a partner in partnership business is
(1) Limited . (2) Unlimited
(3) No liability (4) Unlimited, joint and several
RI0g "‘oo;gés 2.8 PG 0ERrES
(1) S8
(2) enoBo

(3) Do e
(4) 26 erEigh eSOWBIED o000 G0, AT G0N0
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123.

124.

When the partnership firm is closed/dissolved ?

(1) When a partner is died (2) Partnership firm is insolved
(3) Voluntarily dissolved (4) All of the above

P05 50 PS> LB 7

(1) egernaye Sosedodsdeo (2) ardngog do3 B S
(3) Sspotson SurDnSYE “ (4) PsQonor

The relationship between the shareholder and Business Organisation is
(1) Debitor — Creditor (2) Owner—Firm

(3) Creditor — Debitor (4) Employee — Employer
TPCTEC HOBOK0 T HOP Ko 5080650

(1) 200eayess - eaoesd (2) oXesxsord - S0

(3) 20078 - 2a0eatrs (4) &8 - &by 503

Which is to be prepared in consignment ?

(1) Balance sheet (2) Accountsales

(3) P&LAC (4) Trial Balance

55 RRA0LT T TR0E” B Daertsd

(1) esqeiposdy (2) oFoshd (B) oesyosre (4) eokr
The purpose of Non-Trading concern

(1) To provide service (2) Toearn profit

(3) Tocollect funds (4) To provide entertainment
THOBS Soipe ok, S esFbo

(1) “%e0 eodoisex (2) eroren esfoideo

(3) Aeowss sHden Datwe (4) oy wodoneso

Why are the Profit and Loss Account is prepared ?

(1) Toknow the total sales (2) To know the total assets
(3) Toknow the profits (4) None of the above
TYIBLO TR0 DO BOXTEDL Do 2

(1) oo ewiysrors B (2) oogo esindy Bewosiseo
(3) ererd) Beviosseoo (4) P35
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127.

128.

129.

130.

The life time of cheque is

(1) 3months (2) 4 months (3) 5months (4) 6 months
DL, A8, BXG w0 Job ?
(1) 3o (2) 420w (3) 5o (4) 60w

Whé.n drawee is unable to honour the bill on due date, he can go for ?

(1) Renewal = (2) Retirement (3) Endorsement (4) Discount
K5 BO Tt Dy Bt Deiso esesBoER HORAE" Do Daxied ?

(1) Bdrgsd (2) Bgbac0es (3) doctigooeS  (4) Ao

When bill is discounted with bank, the entry in the drawer books

(1) Sales A/c Dr. (2) Cash A/c Dr.
Discount A/c Dr. Discount A/c Dr.
To Bills Receivable A/c To Bill Receivable A/c
(3) Bills Receivable A/c Dr. (4) Cash A/c Dr.
To Cash Alc To Bank Alc
To Discount Alc
D P8 AN, 06 BBipes Doy K HREE @bt DeFdy
(1) esose e Dr. (2) e gree Dr.
&m0t gree Dr. &3n,ot0 greeDr.
To Sioren Hen g To sires Do &
(8) Sioren Dex Dr. (4) 5o 7o Dr.
To 50 gree To T FT
To &an,ot groe

Account sale is prepared by

(1) Consigner (2) Consignee

(3) Government Officer (4) Customer

T 0e5 S50 HOXTEH> DAXHD

(1) &Spsb (2) &5p% (3) Seoogsd  (4) IR
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131.

132.

133.

The relationship between the consigner and consignee is

(1) Sellerand Buyer (2) Employer and Employee
(3) Ownerand Ag'ént ' | (4) Creditor and Debitor
&S558 00 £ 0655 Sowogio

(1) esySomth 50dak ?mﬁ‘wc‘d) : (2) ovesrd s08am a&h

(3) oesrd Sobatn HAJ8 ' (4) e 5080 exoestrs

Overriding commission is given for

(1) To take the risk (2) To provide more profit
(3) Tosell the new line products (4) None of the above
£369¢0R E20355:55 Dot 3 9

(1) 6%, 2BoDSoEs% (2) @85 oere o

(3) S8 658 S:59o% B0t (4) W=y

Loss due to unavoidance, inefficiency, badluck . . . etc. is known as
(1) Normal loss (2) Abnormal loss

(3) Noloss (4) Neither loss Nor profit
DTBOBER, eS50GB, B0, N 5 Iocers SeTe 59 $080B Sge

(1) Sooesge (2) oo sy

(3) spose (4) S3800 =6 SoBako g 526

Receipts and Payment, Income and Expenditure Account and Balance Sheet is
preparedin

(1) Sole trading concern (2) Partnership firm

(3) Joint stock company (4) Non-Trading concern

SR BRoYE TS, el Siaire e 560 e exye 9659 STt Dos T 503y
(1) os o0 (2) QP05 S0

(3) 2rowoe % 5008 (4) =>des Sogen
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135.

136.

137.

138.

Which of the following is capital expenditure ?

(1) Subscription (2) Entrance fees

(3) Lifemembership. (4) Sale of newspapers
2 800 T DB BaredsS S5m0 ?

(1) Soorew (2) S% SodoB

(3) 250 325563;500 | ' (4) JBTTHOS eBSo
Receipts and payment account in case of Non-trading concern is
(1) Nominal Account (2) Real Account

(3) Personal Account (4) Impersonal Account

TS Boigd’ ST 500K DYoY T ORla)

(1) TSosr@d 7o (2) TPs o
(3) s§rdre (4) ¥3Bos T
Revenue Expenditure which is not written off in one year as its benefits spread

over a number of years

(1) Revenue Expenditure (2) Capital Expenditure

(3) Deferred Revenue Expenditure (4) Sales Expenditure

BSATEs0 60 HoNTTeS” Gotieo 3¢ ﬁm%m&d@mwmsmmm ?
(1) Tsrg sy (2) SoreEs 8y

(3) TRy pay (4) oRsd P&

Three partners A, B and C started a business with the capital 10,000/, 20,000/-
and 40,000/~ respectively. At the end of the year they earned 28,000/~ as profit.
What is the share of partner ‘B’ ?

S0 ritigen A, B 5080 C 00 5805 10,000/-, 20,000/~ s08cx:>40,000/- Errahos
TRT DY AT, SostroBsnd’ 28,000/ oy SorBoTD. B’ gritand alook), TeF 08 7
(1) 4,000 (2) 8,000 (3) 12,000 (4) 16,000
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a.

The purpose of preparing Statement of Affairs

(1) Toknow the capital at the beginning or at the ending '
(2) Toknow the profit at the ending

(3) Toknow thé total sales

(4) None of the above

250065 53 Dby (S5ore T6Y) R0 OGO BATED D ?

(1) Soatnd o soB508" :weaa»"h BO0OEBOOH

(2) 2568 ogrdy BevsoSBoR

(3) Do exosros BevtE oo

(4) 5=

Which of the following is correct ?
(1) Assets = Capital + Liability
(2) Capital = Assets — Liability

(3) Liability = Assets — Capital
(4) Allof the above

0B TVE° I8 %6 2
(1) eXeo = Soredsiso + eipes (2) Sorossso = esgen — egyen
(3) eXypen = esigen — soredsso (4) 23

In which type of accounts, only personal accounts are taken ?

(1) Single Entry System (2) Double Entry System
(3) Trial Balance (4) Bank Reconciliation Statement
2 5505 0030 SEAE" E900 S4B TErO SIS SS o ?

(1) eoedse dgso (2) 20e> 565 deriso

(3) eoser L (4) e Dexe ssomsia Ses
Ifthe payment is made by the drawee before the due date is called as
(1) Dishonour (2) Discount

(3) Retiring Bill (4) Remaking of Bill

NEEOD) ST 52008 Dexy %%MKQBQE TR D00 9

(1) esse (2) &S

(3) Den 253082 (4) Deuiso S0 trdoBoseso
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143.

144.

145.

146.

Why the revaluation of assets and liability is done ?
(1) Atthe time of admission of new partner

(2) Toknow balance position

(3) To pay to income tax

(4) None of the above

5100 HRETE S0 0508 309

(1) SrsSom el griiaed DOSHE (2) 305 SOPS BeoSEHOLDH
(3) esorodd S8 DYOBEIS (4) P =D

The Motto “ One for All, All for One” is applicable in

(1) Sole trading concern (2) Co-operative concern
(3) Joint stock company (4) Non-trading concern
Herotsd §500 2.8, £.8,0 5550 €0EE” &5 IS0 JocxE” &otiao ?

(1) rodTgrosn (2) srsosoges

(3) 2ra00el PO Soged (4) T>08sHoFeo

A, B, C are partners. ‘C’ retired from the firm. If ‘A’ purchases the share of ‘C’ the
new profit sharing ratio will be

A, B, C e 500 artigen. ‘C' S0y ood Ason . 'C ey ‘A Sofes DT,
Y B ergrR)) S0 ARS
(1) 1:2 (2 2:1 (3) 1:3 (4) 3:1

Ram, Ramesh and Mahesh are equal partners. Ramesh retires, Ram and Mahesh
have decided to share future profits in ratio of 3 : 2. What is the gaining ratio of
Ram and Mahesh ?

555, SB0T 500K SoirGe SIS griien. SRR A DI, T So0ako SoerSe %S
oo 3 | 2 DaE° SoMEETED DEANCHLT. woxd 05 Hdat: $rirde $rE 0§ Jpd
08 ?

(1) 1:3 2) 2:3 (3) 4:1 (4) 4:3
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147. A asset was purchased with 10,000/- depreciation at 10% under fixed instalment

148.

149,

method and written down value method. What is the amount of depreciation in the
3year ?

(1) 1,000-and800/- (2) 1,000/~ and 900/-
(3) 1,000/-and 810 (4) 1,000/-and 750

28 3 10,000/- 5068 Sxsoifes 70, S60M6 T5as 1 0% Sxyi 36 Trowmre 1559
D080 BER) Do SGS S0 84 Anth. 0w S 0500 BEMNHES Jo 9

(1) 1,000/ 558055 800/- (2) 1,000/- 558055 900/-
(3) 1,000/-5580%5 810 (4) 1,000/-5580%5 750

What is the relation, a debenture holder is with business firm ?

(1) Seller (2) Buyer (3) Creditor (4) Representative
CROBETTED THIC D00 DS0YTED ?

(1) osspotnes  (2) Ssofforot (3) awexe (4) o320
When the Delcredere Commission is given, who bears the risk ?

(1) Consignor (2) Consignee

(3) Transporter (4) Insurance company

CHRED £ SeIBSE SR 200050

(1) &56 (2) &5p% (B) sTerortocs (4) Hsrxond

Which of the following is the example of a Revenue Expenditure ?

(1) Purchase of building : (2) Purchase of equipment

(3) Purchase of books (4) Purchase of newspapers J
B2 20D TS DB T 350078 e 9

(1) oSve §%0f%0 (2) S0 SxoR’en

(3) Iisre SxoRten (4) o 59% Tsofes
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